SECTION-A

Section-A has 20 questions, carrying 1 mark cach.

l. A cylinder, a conc and a hemisphere have same base and same height. The ratio of their

volumes 15 :

(a) 1:2:3 (b)y 2:1:3
\9’{ 3:1:2 (d) 3:2:1
2. Ifsumof 10" term and 18" term of an A.P. js 128, then the 14" term of an A.P. is: 1
A+Ad + Q4 13l 5128 -
(@ 64 (b) 48 *
N o+ Y A l'lEE:é &
© 8 d) 74 (- 12d) 2475
| 7
3. The HCF of smallcslr two digit even number and greatest one digit even number is : 1
: ' | &)
) 2 b) 4 ‘i & d
(c) 8 (d) 80
4, [f the perimeter of a sector of a circle of radius 8cm is 43cm, then the area of
the sector is: | |
: o
r\,(ﬂ')/] 72 em® (b) 86 cm’ -"'}g;) &
. Lo
‘\‘1’{} lﬂﬁ"ﬁr b 0"
(©)  3M4em? (d) 473 cm’ Sl
%
5. Ifthe coordinates of both ends of the diameter of a circle with centre (4, 5) aré (3, y) and

(X, 8) then the value of x — yis: 1"“?[?

G Scanned with OKEN Scanner



Neha has Lodem long stiek and Nikhal has 280cm long stick. They both cut the sticks into

Ty L 1 e 1 L] Y j ! 1 i .
Preces such that all preces are ot equal length, What as the maximum length of cach

“b)y 40 em

(d)  S6cem

-

e equation of a line panallel to 4x - 2y = R is

3 (b)Y  Sx—dy=16
LA} XWX -dy=7 (d)  4x+3y=9
X, The penmeter of a triangle with vertices (0, 0), (6, 0) and (0, 8) is : r"’ |
a) 1= units L 9 e - |
(a < umts (b)Y 24 units
(¢) 12 units (d) 22 units
9. [f the o~ term of an A.P. is given by a, = 3n + 2, then common difference of the
AP s |
"'E.fx \ L - (\
- CI_"_:" T{! '}" ) A 3
(a) 3 (b)y -5 N
() G
- Ln.,-.l ik
(<) 7 '\__ld] 3

10, In a quadnlateral ABCD. if AB|[DC and PQ|IAB, such that AP = x , PD = x - 2

BQ=x+2.CQ=x- I, then the value of x is :

. 7

(c) | (d)y 5 . Y
L T
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11,

13.

14.

15.

.5 1
Il sinx = \/ and cos y =0, then the value of Y —X 1§ : 1_‘; — S 1
o
(a) 15° (b)  30° @4’5%5:’1 g £
Vi i /oy
. [ l /
(o) 45 (d)  60° @gﬁ}’ ¥
It rles ABC ~ POQR, 2L ]
in triangle Q ) = and perimenter of APQR = 16 cm, then perimeter of
AABC is : R “”C ; ¢
S |
| 6 ) C Q 'DTL I
) . \.Illl
(a) 8cm (b) 16cm B g ’ff’, . H}%ﬂﬂ
wb i _
(¢) 20cm () 2 /:”/a : E
\9) 25 cm \
‘ (5 \,‘i
If a chord subtends an angle of 50° at the centre of the circle, thun the angle between n the ':z)
tangents drawn at the end points of the chord is: "
(@)  100° \_/(«b’)/ 130°
() 75° d) 90°

(a) 1 by =2
(c) 4 (d) 0

In the fig., if CD = 30m, then the length of AB is:

(a) 60m (b)  30V3 m

\@/ 4043 (d) 30(3+1)m .

=l
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16.  If one root of the quadratic equation x* + gx + 6 =0 is 1, then its other root is:

L
n, o
(@) 35 (b) -5 N . L (™
. (2 N~
"6 Fto_v

= A9A6 20 -

17. The difference of upper limit of modal class and lower limit of median EIHSS for the
_.(;michiW | @/}M

: 46 X~
following data 1s: 1.&1){;4‘*’“ = \
a{huu) U (- > @43//
Marks 0-10 10-20 20-30 | 30-40 40-50
Number of students 2 5 17 10 16
. . ™
: K
L& 0 b) 20 5
. w 7
(-

(c) 30 (d 10

In a box, there are number cards 1 to 100. A card is drawn at random. The probability of

1

18.

_—

getting either a perfect square number or a perfect cube on the card 1s :

(a) | 0
7 13
= d —=
\/W/su @ Too y
1 \ t 4
B &
2 )~ * /
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19.

20).

Divections for Question No, 19-2() -

In question numbers 19 and 20, a statement of Assertion (A) 15 followed by 2 statermnent

of Reason (R). Choose the correct option :

(a)  Both assertion (A) and reason (R) are true and reason ( ) is the correct explanation

of assertion (A)

(b)  Both assertion (A) and reason (R) are true and reason (R) is not the correct

explanation of Assertion (A) B 0:
AR
_ . . A\ N
(¢)  Assertion (A) is true but Reason (R) is false /‘ A
Y 23\ \
() Assertion (A) is false but Reason (R) is true V
2 g Y
Assertion (A): The HCEF of 28,49 and 91 1s 7. > [G-\ 1

X
B |

Reason (R): HCE of two or more numbers 1s the product of least power of common

--'—"'_-____

prime factor of the numbers.
prime

Assertion (A): Class mark is the mid point of the class interval.

upper limit -- lower limit
2

Reason (R): Class mark =
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SECTION-B

Section-B consists of 5 questions of 2 marks each

o) I g — . . r . -
21, If sin A +cosA = V2, then find the value of tan A + cot A . 2

OR -
J NG I S

c0s30° + sin (JUG

c0s60° 4 sin30° r _L#)j:

=

M ‘
22, In the figure, O 1s the centre of the f:lr{,lt: DA mld DB are the tangents to the circle from

B

D.If ZADB = 50°, then find ZACB, - P S— 7

Evaluate :

e c—

23. Find the area swept by the minute hand of a clock of radius 14cm in 25 minutes. 2

24.  The volume of a cylinder is 1386 cm’ and the curved surface area is 396 c¢cm’, then find -

the height of the cylinder. 2

OR

A right circular cone of radius 7cm has a curved surface area of 550cm?. Find the volume

of the cone.

Z_d—- - .__F,.--'

e i)

G Scanned with OKEN Scanner



25,

In the given figure, OA x OB = O(C OD. Prove that ZA = 2C and /B = /D 2

A C
()

D

SECTION-C

Section-C consisgs of 6 questions of 3 marks each.

26.

28.

Prove that E\E — 3 1s an irrational number. 3
A
Find the middle term of the A.P. 202, 196, 190........ 22, ,}l\DEd 3

OR

Find the sum of all three digit numbers divisible by 3.

If m=acosf+bsin® and n =asinf— bcos0, then prove that
m’+n’=a’+b’

From a well shuffled pack of cards, a card is drawn at random, then find the probability

of getting a : 3

(i)  Red face card

W

(i)  Black card

| W

A,

(iii) Black face card when all the kings and queens have been removed from the pack.
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Propve - posite sides ' : . s :
topve thatopposite sides of a  quadrilateral circumscribing a circle subtend

supplementary angles at the centre.

'

OR

Ina circle with centre O, AB is a diameter, AC is a chord and AP is a tangent at A. Prove

that angle ZCAP = ZABC.

Y - i w w 1 Y L "1 .j ) & "
I cand 3 are the zeroes of 2x° 4-7x + 5, then find a quadratic polynomial whose zeroes

are 2a and 2§ 3

SECTION-D

Section-D consists of 4 questions of 5 marks each.

f_,.u-
(-

Prove Basic Proportionality theorem. With the help of it, prove that the intercepts made

by three parallel lines when they are intersected by two transversals are proportional. 5

._J,J
d

The angle of depression of the top and bottom of a 300m high building from the top

of a tower are 30° and 60° respectively. Find the height of tower and distance

between them. 5
OR

A man is standing on the deck of the ship which 1s 20 m above sea level. He observes the
angle of elevation of the top of a transmission tower as 60° and the angle of dépression of

the foot of the tower as 30°. Calculate the height of the tower and the distance of the ship

from the tower.
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L P i ARG R . ‘ : .
3 \ SUEVEeY wis conducted in dsociely and data {lIIUHI'IL'IHIl“”'u per week h}" the children of

{ . - "I'I ' i i T . i - i . g #
h society had been recorded as below. Find the modal ¢xpenditure and mechian

CXpenditure of a week of ehildren of the sociely.

Expenditure 0-50 | 50-100 1 100-150 T 150-200 1200-250 1 250-300 [ 300-350 | 350-40)0

(In ) per week

Number of children | 12 7 0 I 14

-2
2

17 1l

l._fJ
L T

In-a class test, the sum of Anaya’s marks in mathematics and science is 40. If she had

scored 6 marks more in mathematics and 1 mark less in science, the product of marks

would have been 450. Find her marks in two subjects. 5

OR

Solve for x : 9x° — 9(a + b) x + (2a + 5ab + 2b*) = 0

e
SECTION-E ANV
o

Section-E consists of 3 based questions of 4 marks each.

36.  Ice cream stall 1s one of the most favourite stalls of children in any function. Children
love to taste ice cream. In a function ice cream is served in vessels of different sha pes.

The conical vessel is of height S5cm and radius 3.5cm, whereas a cylindrical vessel has

radius 4.2cm and height 4cm.
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T RN
S T | T e T T T T T T 0 lulln'x;u,;f (uestions

() Pl the vl of the comeal vensel |

VO 1 the volime of the vhindiienl vessel I

(1 - |
oo takinn lins aluer paot ||Iu-u|hqihf1j¢;ﬂ scoap of e cream on the cone, than how

e dee cremm dbd e et b nll? 2

ON

Chnishe put 2 sphenienl chocolwtes of rdiug 0. 7¢m in the cylindrical container,

then find how much fee crenm can be poured In the container?

\/ A nchool went on a plente in o city, After returning from picnic Sumit thought to plot the

places visited ona graph sheet and shown the graph (as shown below) to his friends on

next doy,
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Based on the above information, answer the following questions:

(1) Find the distance they had to travel to reach point B from point A. l
(1) Find the coordinates of point E lying on BC which divides it in the ratio 1:2. ]
2

(ii))  Name the quadrilateral so formed by joining these points in an order.
OR
Find the distance travelled on the day of picnic?

Libraries play a vital role in providing people books to read from and enhance their
knawledge. Saraswati library in a society takes a fixed charge for first three days and an

additional charge for each day thereafter. Shobha ﬁaid ¥ 30 for a book kept for 7 days
while Rani paid ¥ 45 for a book kept for 10 days.

Based on above information answer the following questions:

(1)  Algebraic equation representing situation of amount paid by Shobha. 1
(i)  Algebraic equation representing situation of amount paid by Rani. 1
2

(iii) Find the fixed charge and additional charge.

OR

How much money you have to-pay for a book kept for 15 days?
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